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I nmwn: parameters of legitimate nw for redemption
a  Excluded: calf, nn, slaughtered or nav, hybrid or »
i Attribution: to » 31 12, who reads nw::nw (vv1-2)
1 Just as: in re: noa 129p, all other animals are excluded, so too re: n"a 19
2 Challenge: if so, why not require that it be male, a yearling and without o
(a) Answer: n7an (v1) expands — but nw::nW serves to balance and limit in genus
ii 915K ’7. permits using hybrid (defined as “nw”) but disallows "3 (defined as pav)
b If he gave the n"a itself to the 113, he may not keep it until a kid is designated in its place
I Series of questions testing the parameters
a  /WIpa 13 per n™ (requires NVNY), may certainly be used — but per 127
i Lemmal: since mother's nv'nv is sufficient, it is as if it is already slaughtered and unusable, or
ii ~ Lemma2: since it currently is alive, it is a "nw”
1 Dispute: X701 9n disallows; »wyr 11 allows
(a) v~ 37 if infers from nosy, then should require male etc. but n7an expands
(b) &7v1r 712 then what is the purpose of nw::nw — if not to exclude
b /071 (animal that looks like a different kind): per X" may certainly be used, vp from n>xY2 — but per 1327
i Is it: similar to ©'RY), or is it only real )& that are excluded
ii ~ apooim if a cow births a goat-like young, may not be used
1 Implication: if a lamb births a goat-like young (nnm), may be used
(a) Must be: per 1121 (per ™, even a XY may be used) >nnm is permitted
(b) Rejection: it is ®™, teaching that the host mother defines identity, not the young itself
iii 58w 92 727 definition of 0R53 is a ewe that birthed a goat-like young — and the father is a lamb
1 Challenge: this isn't DR — it is npM
2 Rather: this is "like" ©'&%3 and 1127 equated it to DR
(a) Can't be: for DwTp, as it is excluded with same w170 as DRI (v3)
(b) Can’t be: for 133, as v4 sets up requirement that mother and young must be similar
(c) Can’t be: for 2"yn, as that is parallel to D*wTp per nnn::nnn
(d) Must be: for n”a (=>nnT1is excluded)
(e) Rejection: is re 2"yn; in case where it has some n»1n’v like mother
(i) ~7ro. we would infer nrayn::miayn from 992 (valid), Y"np that we infer nnn::nnn from w1y (excluded)
c  pwipwn 25109 per ™ may certainly be used (he permits nXkin from n”moa); but per N’ "
i Lemmal: since it is MOR, can't add another Mo>R (n”a 11779) on the MR, or
ii ~ Lemma2: since the 118 doesn't transfer, it's just a method for removing the Mo’R >may be used
1 Response (»7 27): why is it different from a n'n (v5) — may not be used >n”moa may also not be used
(a) Observation: with that source, even w” would agree
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d  rmwav npna(bought with my2aw my): if he certainly owes it, unusable; 72w ma are only for eating, not business
i Question: applies to pav (e.g. where his n13an had a M/F — per nTin *1 separates and keeps (per v — does nothing)
ii ~ Lemmal: since he keeps the n%v, considered nYarY, or
iii Lemma2: since he cannot use the n”a without first designating and redeeming on this animal — considered nmno%
1 Answer: X100 "7 ruled that it may not be used to redeem 8T, but may be used to redeem pao
2 Tangent: "1 ruled that n’»aw nnna is exempt from N2 (NYIR5 — not to be destroyed)
(a) But: is liable for mann — as it is considered nYax%
3 Challenge: ruling that if someone eats from n’y>aw-dough before nn was taken — nnm 1»n
(a) However: if we consider that if it were to become ®nv, must be burned — but n»aw is nYIRY and not NV
(b) Answer: v6 — 0N expands to include nyaw noy
(i) Question: why not derive from there (to allow n»aw to be used for redemptions even at risk of na7v)
(if) Answer; in case of nn, it is mainly used for eating; in case of 1133, much of it goes to nam (D NR)
e  Analysis of last line: 1n3% ...
i xr77xif a Y87 has n”0 in his house and 103 offers to take it and redeem it on his own
1 Then: Y87 may not give it to him; but must redeem in front of YR
2 Inference (37): 11 are suspected of using MmN »Mva without redemption
(a) Note; this is an obvious implication from &n»a -
(i) But: we would think that only applies if we know him to be in violation
(ii) Inference: teaches that we must always suspect them as they rationalize
III ymwn: status of 1N 9va or redemption-kid if it dies
a &7 has liability towards 1n3, akin to jan 1910
i 9oy 27 R™'s reasoning from v7 — pairing nXnv N2 MNI2::0TR NI > INPINRA 27N
1 »an if so, then he should be able to get nRk1n from the n”a (just as we do from nTRN 7123)
(a) But: we see that 8" doesn't allow for that, as he rules q12p>
(b) Proposal: 7ap> doesn't prohibit nrin, just that he must be buried like & 7132
(i) Challenge: all humans must be buried (not just 7132)
1.  Additionally: X" requires designating nw for n”a pav (2he prohibits nran, like > )
(c) Rather: v7 limits comparison to 1178 (= nVINR 2vN), not RN N
b o’nm no liability — akin to w”yn money (that got lost)
i Testimony: of py1x "M YW 1 that if it dies, the 102 has no claim
¢ If: the n”a dies after redemption but before giving n%v to 103
i &”1. n”a must be buried, but n%v belongs to YR71v?
ii ~ p’mom no need to bury (may get nRin from n”a) but n5v still goes to 112
d  Related #1772 137y are judged based on the age of the 711 at the time of the 77T);
i 713 779 of DR — after 30 days, of n”a — immediately
1 Challenge: there is no less than 30 days in 127, 120 1179, M1 or NN 708 — and may be done forever
2 Answerl (17): teaching that if he did redeem before 30 — redeemed
3 Implication: if he redeems his son before 30 days — not redeemed? 21 ruled that »79 12
(a) Defense: k11 — all agree that if he redeemed retroactively — invalid
(b) nww 27 itis immediate, but Xn»a teaches that if he waited up to 30 days — not in violation
(¢) n727 he has 30 days to decide — by then, must either redeem or perform na»y
(i) Challenge: then language should reflect that choice
(d) ~2730 days is per 8" (...78), immediate is per 1327 (who don't read ...18)
IV 1 mwn: priorities
a  n’ if he doesn't redeem — must break its neck from behind with cleaver
b  n"2 redemption takes precedence (and is preferred) to na*y — per v1
¢ 7w is preferred and takes precedence to redemption (of the nay nnR) per v8
d o2 is preferred and takes precedence to n¥'on — in earlier times when the 02> had intent mxn owb
i Now: without that intent, n¥*%n is preffered to ma»
e  w7pa 7o is preferred to be done by owner (adds wmn) per v9
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